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1. The value OfZ’D +§,0 is

(i) 3 (ii) > (iii) ! (iv) > (v) >
i P 2P 2P P

2. The degree of polynomial(—e2 —9efg2 —97 +3fg2 —-99)is

(i) 7 (i) 5 (i) 2 (iv) 4 (v) 3

3. Which of the following is a like term of(—4n202m2) ?

(i) (=2mno) (i) (=8m2n20%) (iii) (=5m?no) (iv) m?no? (v) 7mno?

4. The value of(3g2+7g+3) +(-8g2—59—6) s

(i) (=50%°+2g-3) (i) (=7g%°+29-3) (i) (=29°+29-3) (iv) (-60°+2g-3) (v) (—4g%>+2g-3)
5. The expanded form of (x+5) (x—8) (x+7) (x+4)is

(i) (=x*+8x3-45x2-524x—1120) (i) (2x*+8x3—45x%2-524x—-1120)

(i) (x*+8x3—-45x2-524x-1120) (iv) (3x*+8x3—-45x%2-524x-1120) (v) (8x3—45x%2—524x—1120)

6. The value of(—7p2q+2p2—7pq+4q2)—(4pq2—7pq—4p+11q) is
() (—6p2q+2p®—4pg?+4p+4q®—11q) (i) (~7p?q+2p>—4pg® +4p+4¢>-11q)
(iii) (~7p°q—p*—4pg® +4p+4q*>—11q) (V) (-8p°q+2p>—4pg® +4p+4¢°-11q)
(V) (=7p*q+5p° —4pq®+4p+4g°~119)

7. The value of the polynomial(—5d2f+5dezf) at d=5,e=(-5),f=0 is
(i) -1 (i) 1 (ii) 3 (iv) O (v) -3

8. Which of the following algebraic expressions is a zero polynomial?

(i) (=B Pw+Bw+euvn?) (i) (=7uv3w3) (i) (=43 vP+7uv2wd)

(iv) (—5u3v3w—5u2W3—8v3+3v) (v) O

1 3
9. The expanded form of(Euv) is

1 1 L1 1 1 1 o1 1 1 1 1 o1 1 1 1
(i) —uvx—uv (i) —uvxX—uvx—uvx—uv (iii) —UVX—-UVX—-UVX—-UVX—-UV (iV) —UVX—UuvX—uv (v) —uv
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The value of the polynomial (8 2 V2 w—6w?2 +5w) at u=(-4),v=4,w=4 is

(i) 8115 (ii) 8117 (iii) 8116 (iv) 8118 (v) 8114

Which of the following terms can be added to 5 ?

(i) 6tu (i) 9u (i) 1 (iv) 6s5u (v) 5st

5Xaxaxaxbxbp=

3 2

() 3a56% (i) 54262 (i) 5a°b° (iv) 8a°b% (v) 5a%b

The expanded form of (3x—9) (2x—9) (x—4) is

(i) (3x3-69x24261x-324) (ii) (8x3—69x2+261x—324) (i) (5x3—69x%+261x—324)

(iv) (7x3—69x2+261x—-324) (v) (6x°—69x%+261x—324)

The coefficient of term @362 3 in polynomial(—4a3 b2 +2ab3c+7ab3-9ab? 2 +9bc2—2c% + c)is
(i) -2 (i) -3 (i) -5 (iv) -4 (v) -6

Which of the following algebraic expressions is a constant polynomial?

() 3 (i) 3n3 (i) (=9n2=5n-1) (iv) (5n*=8n3+8n%+n—=3) (v) (—4n%+6)

The sum of the terms(—-3v),3v,1,1,9is
(i) 11 (i) 10 (iii) 14 (iv) 8 (v) 12

The value of95 X85 is
(i) 8078 (ii) 8074 (iii) 8072 (iv) 8076 (v) 8075

Which of the following terms can be added to(—20n2p2) ?

(i) (=8n20p) (ii) (=3nop?) (i) 6n%0p? (iv) (=5n02p) (v) 9no?p?

The value of (—k° —7k+9) + (—4k*—8Kk%2 —3k) + (6k° +5k3 +5k%) +(=5k*—3k3—1) s

(i) (5K2—9K*+2k3-3k2—-10k+8) (i) (4k°>—9k*+2k3—3k*>-10k+8)
(i) (2k°—9k*+2k3-3k2—-10k+8) (iv) (Tk°—9k*+2k3 —3k?—-10k+8)
(v) (6k°—9k*+2k3—3k%—-10k+8)

The value of (—4z) X(—=52z) X(—1) X(=22)is

(i) 4023 (i) 392 (i) 4123 (iv) 432> (v) 387

The value of(—4a3) —433is

(i) (=8a3) (i) (=9a°) (i) (=6a°) (iv) (=7a3) (v) (—10a°)



. The value of the polynomial (9c2d?2e?-9c2e?+2d%e)at c=(-1),d=0,e=0 is

(i) -2 (i) 3 (i) 1 (v) -1 (v) O

. The value of (=5 w2 xy?) X (—6wx) is

(i) 33w3x%y2 (i) 30w3x2)2 (i) 29w3x2)2 (iv) 28w3x%)2 (v) 31w x2)2
1 1.

. The value 0f300-3 ><298-2|s

1 1 1 1
(i) 89650 (ii) 896502 (iii) 89649-4 (iv) 89649-2 (V) 896482

. The coefficient of term bcdin polynomial(—7b2 2 d+5bc2d+4bcd- bd—962) is

(i) 3 (i) 1 (iii) 5 (iv) 4 (v) 7



Assignment Key

1) (iv) 2) (iv) 3) (ii) 4) (i) 5) (iii) 6) (ii)
7) (iv) 8) (v) 9) (iv) 10) (iii) 11) (iii) 12) (iii)
13) (v) 14) (iv) 15) (i) 16) (i) 17) (v) 18) (iii)
19) (i) 20) (i) 21) (i) 22) (v) 23) (ii) 24) (iv)
25) (iv)
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